EARAZROREIERT — 2 N—XBISY —F 20141838 (£) 11[@IIB3H

mﬂﬁ% 3% 6 23ALE36HKH ‘ Xf&] 2 ‘ EBM] - | & (&) 14000 &
[x&<£] 1% :1,200,000 @ ~ 23%&:360,000  ~ 337%&:216,000 @ ~ 4 3&:144,000  ~ 5 7 :120,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i . . *555[' . . —q—1— . — bﬂﬁggﬁ_ (““IE})
1 3 IN—T T R H 4 3 ;E-JO 1(3_3)4 1-1-1-1 | 41.2 1 ;1_019) R ALE )
RTwINKEry b B IRXTT RELHIS
w ; 4 3 | BERE 1:34.0 4-4-3-3 | 41.2| — 1| 443 | BEEE (16)
218111 I—XVvYhE 56.0 (3) (+4) EHF—
LT N=hHb)— B:HITFLN—h [I)=2kse ]
= O 4 3 | sk 1:34.1 5-5-3-4 | 41.0| — 6 439 | RRE (J114)
3/ 11| TAXT1¥AYT #53.0 (7E) (o) | Bl
Libh=—t2 42X BZXTANYR= K BREHM IXF1T77—L4
. S A2F—1dt : 00— — ATEBR (11iE)
4 6| 7YvAav> 3 izl 1.(355).1 2-2-2-2 | 42.7 2 f;) L
R:ALT7AT7 BTN =HE
— ¢ : f 3 | RER 1:37.2 7-7-8-6 | 43.1| — 3 482 | ARE (IliF)
5 2 IXF4/NL—FK 54.0 (24 4) (-15) | Bl
Ribh—t>4>Z B:b—t2hH—ZNNI BR&HH IXF477—L4
“ 4t 3 | HTHER 1:37.2 6-6-6-5 |44.1| — 7 468 | R E (JI11&)
68|10 F¥Y—F 1Y 54.0 (7€) o) | ) BEA-hy—ER
= B h—/\LIVIL e HIVHES
S it 3 | BRBZ 1:42.1 9-10-11-7 | 46.8 | — 8 413 | B:E2k5— (J111&)
717 9| AL =N 54.0 (21%) © |PHER
LF-TRTNA— b B bIALT—F LSS
R - - 1ERETEAT : -11-10~ - SAE— (i)
8 sl vFsva-7> 4 3 s (15(.4:8:;)) 11-11-10-8 | 52.9 10 (4_452) P
R:2=Z/FXLLy b B:RY—Y INT S
. _ 3 | EHB - -3- - - SABA (11)
%% 5|5 | ¥F/T777— # 54.0 G s ? <4+571) AR
RTAVHLRZ Bedhy74> J—ZF—F>
EFREA — 8- — - AEEZE (1
o 7 R—k 1z % 3 g5 o 8-8-7 4 (4_341) RABE %)
b=k IRT— B:bh—KkIAL> me =A
N . ) — 4 3 | HEIBTHIE - 10-9-9 - — 5 425 | hNEEE— (J118)
|78 |FvFr RN 54.0 (ik) 43y | 0B) MRS
R:TH—T4FAF—-IYV> BALF1T7FHH-I TR
@ 1 — S —EBlIEf
13—7+— 3,6,5,11,1,10,2,7,9,8,4
2= = 3,6,5,11,1,10,2,7,8,9,4
Jol=5r= 3,6,(1,5,11),10,7,2,8,4,9
40—+ — 3,6,11,1,10,2,9,4
[ N3
B OB 3 290H 714K 3-11 6,510 % E 3-8 2,560 3EHE 1-3-11 46,260
8 B 3 130H4 =3 550M B 3-8 4,820 K31 &=1= 261,290H
1 2,970 1-11 14,730M B E 3-11 25,0504
1 400M B 3-11 34,470M

ABICOVWTRDTEEERROODE. TR LIV,




